Calculate Percents of Decimals

3.66 x 60% =

2.23 x 60% =

8.53 x 80% =

8.17 x 60% =

3.5x90% =

229 x 10% =

3.14 x 10% =

2.22 x 90% =

6.83 X 40% =

8.25 x70% =

Date: Score:

1.08 x 90% =

7.45 x20% =

1.89 x 80% =

9.68 x 10% =

3.14 x 40% =

3.4 x70% =

7.82 x90% =

6.52 x70% =

1.54 < 90% =

3.28 x 30% =

www.snowmath.com



https://www.snowmath.com

Calculate Percents of Decimals

3.66 x 60% = 2.196

2.23 x 60% = 1.338

8.53 x 80% = 6.824

8.17 x 60% = 4.902

3.5x90% = 3.15

2.29 x 10% = 0.229

3.14 x 10% = 0.314

2.22 x90% = 1.998

6.83 x 40% = 2.732

8.25 x70% = 5.775

Date:

1.08 x 90% = 0.972

7.45 x20% = 1.49

1.89 x 80% = 1.512

9.68 x 10% = 0.968

3.14 x 40% = 1.256

3.4 x70% = 2.38

7.82 x90% = 7.038

6.52 x70% = 4.564

1.54 x 90% = 1.386

3.28 x 30% = 0.984
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